

$$a_1 \times a_2 \times a_3 = 4^2 \Rightarrow \frac{a_1}{q} \times a_2 \times a_3 q = 4^2 \Rightarrow a_2 = 4$$

$$a_1 + a_2 + a_3 = 21 \Rightarrow \frac{a_1}{q} + a_2 + a_3 q = 21 \Rightarrow \frac{4}{q} + 4 + 4q = 21 \Rightarrow \frac{4}{q} + 4q = 17 \Rightarrow 4 + 4q^2 = 17q$$

$$\Rightarrow 4q^2 - 17q + 4 = 0 \Rightarrow q^2 - 17q + 1 = 0 \Rightarrow (q-1)(q-16) = 0 \Rightarrow q = \frac{1}{16} = 4 \times$$

$$\Rightarrow q = \frac{1}{4} \checkmark$$

$$a_1 \times a_3 = a_2 \times a_2 \Rightarrow (x^2 - 2)(x^2 + 4) = 4x^2 \Rightarrow x^4 + 2x^2 - 8 = 4x^2$$

$$\Rightarrow x^4 - 2x^2 - 8 = 0 \Rightarrow (x^2 - 4)(x^2 + 2) = 0 \Rightarrow x^2 = -2 \times$$

$$\Rightarrow x^2 = 4 \Rightarrow x = \pm 2$$

$$x = 2 \Rightarrow a_n = 1, 4, 16, \dots \checkmark$$

$$x = -2 \Rightarrow a_n = 1, -4, 16, \dots \times$$

$$= 16 - \frac{16}{4^2} = 16 - \frac{1}{1} = \boxed{\frac{15}{1}}$$

$$S_{\infty} = a \left(\frac{1-q^{\infty}}{1-q} \right) = 1 \times \left(\frac{1 - (\frac{1}{4})^{\infty}}{1 - \frac{1}{4}} \right) = \frac{1 - \frac{1}{4^{\infty}}}{\frac{3}{4}} = \frac{1}{\frac{3}{4}}$$

$$S_{\infty} = a + aq + aq^2 + aq^3 + aq^4 = a(1 + q + q^2 + q^3 + q^4) = 4^2 \times \frac{121}{16} = 4 \times 121 = \boxed{484}$$

$$d = \frac{4^2 - 1}{\omega + 1} = \frac{4^2}{4} = 10, \omega \Rightarrow A = a^2 = a + \omega d = 1 + 31, \omega = 31, \omega$$

$$A + B = 1 + 31, \omega = \boxed{30, \omega}$$

$$t_n = -2^2, -\frac{9\omega}{4}, \dots \Rightarrow d = \frac{-9\omega}{4} - (-2^2) = \frac{-9\omega}{4} + \frac{9}{4} = \frac{1}{4} \Rightarrow t_{101} = a + 100d = -2^2 + 2\omega = \boxed{1}$$

$$a_n = 121, a_1, \dots \Rightarrow a_n = 1 \Rightarrow \frac{a_n}{a_1} = \frac{1}{121} = \frac{a_1 q^6}{a_1} \Rightarrow q = \frac{1}{11}$$

$$a_3 \times a_9 = a_6 \Rightarrow (a + 2d)(a + 8d) = (a + 5d)^2 \Rightarrow a^2 + 10ad + 16d^2 = a^2 + 10ad + 25d^2 \Rightarrow 16d^2 - 25d^2 = 0$$

$$\Rightarrow 9d^2 = 0 \Rightarrow 3d(3d) = 0 \Rightarrow 3d = 0 \Rightarrow d = 0$$

$$\Rightarrow 10d + a = 0 \Rightarrow 10d = -a \Rightarrow d = \frac{-a}{10}$$

$$a_2 \times a_8 = a_5 \times a_5 \Rightarrow (a + d)(a + 7d) = (a + 4d)^2 \Rightarrow a^2 + 8ad + 7d^2 = a^2 + 8ad + 16d^2 \Rightarrow 7d^2 - 16d^2 = 0$$

$$\Rightarrow 9d^2 = 0 \Rightarrow d = 0 \times$$

$$\Rightarrow a = d \checkmark$$

$$t_n = \dots a + d, a + 3d, a + 5d, \dots \neq \dots, 2a, 3a, 4a, \dots \Rightarrow q = 2$$

$$t_{10} = t_9 q = \frac{1}{4} \times 2^9 = 2^8 = 128$$

$$a_n = 2aq, 2aq^2, aq^3, \dots \Rightarrow 2aq + aq^3 = 4aq^2 \Rightarrow 2 + q^2 = 4q \Rightarrow q^2 - 4q + 2 = 0$$

$$(q-1)(q-3) = 0 \Rightarrow q = 1 \times$$

$$\Rightarrow q = 3 \checkmark$$

$$a_n = 1, \frac{v}{c}, \dots \Rightarrow d = \frac{v}{c} - 1 = -\frac{1}{c} \Rightarrow a_{\text{eff}} = a + v d = 1 - \frac{v}{c} = +\frac{\omega}{c}$$

$$a_n = a + v d = a - \frac{v}{c} = -\frac{1}{c} \quad a_{1v} = a + 1 v d = 1 - \frac{1 v}{c} = -\frac{v}{c}$$

$$\text{Wilo} = t_n = \frac{\omega}{c} + x, \frac{1}{c} + x, -1 + x, \dots \Rightarrow \left(x + \frac{\omega}{c}\right)(x - 1) = \left(x + \frac{1}{c}\right)^2$$

$$\Rightarrow x^2 + \frac{1}{c}x - \frac{\omega}{c} = \frac{1}{14} + x^2 + \frac{x}{c} \Rightarrow \frac{x}{c} + \frac{1}{14} = 0 \Rightarrow \frac{x}{c} = -\frac{1}{14} \Rightarrow x = -\frac{1}{14}c$$

$$t_n = -\frac{1}{14}c, -\frac{1}{14}c, -\frac{1}{14}c, \dots \Rightarrow \boxed{q = \frac{\omega}{c}}$$

$$t_1 \times t_v = t_f \times t_f \Rightarrow a(a + qd) = (a + d)^2 \Rightarrow a^2 + qad = a^2 + d^2 + 2ad \Rightarrow d^2 - vad = 0$$

$$d(d - va) = 0 \Rightarrow d = 0 \quad \text{or} \quad d = va$$

$$t_1 + t_f + t_v = v \Rightarrow a + a + d + a + qd = v$$

$$\Rightarrow a + 10d = v \Rightarrow v a = v \Rightarrow a = 1 \Rightarrow \underline{d = v}$$